[$F065%E28 4]

T LS 7 | RS T s [ 250 |
G ZREER | e BrSysHe
S Bk %*“iﬁ*ﬁ’ﬁ EELEFMEHICESEIRS | () /0—X 305,405,005|
RiTsw B
= 2t 2
SR PO leuwmn |ManEREseEETRASTAS |7 TO TS0 | 102650000
n EARMERESREATES LR | oD IR
E‘f;%‘*ﬁw]& BER ﬁn i IS s e BEEER R ER 346,918,458
UX1¢$ ST _ ﬁj’ﬂ]%
BEE DX —E:E%*i%ﬁ% FREEBIR BRHRARE 3 [ () 4801264’000|
KT F
B2 ROR [ES I E|oTEES I ENERNRARES B 01577000
Uxie = 10EHBE L) A&H () 577, |
EIRS BIE | oreye |SHBEEEEDSBEEEERESY| .,
Oxfie TR EUR e nmuneomEL (B2mE) BT 236,359,000
~ 15 TR S = EE Ry T —X
A e K =] = R 10
%gﬁgﬂt& EHERE “g%ﬂ’é‘?‘ﬂﬁ%&fﬁéﬂ%ﬁ%ﬁﬁ =T (hE) 2,441,655,000|
<z £ = EEIIE RRIRRIZIGF
i el e il 645,120,000
SHEESIE ERRRRRE
Sos PO lepmpm (o0 ol AR s () 667,843,000
5 . A EEE EERRRRRRRR M.
BEIPR lemmrr | nene e m e msm s | 1e6723000
2 = IE = ‘ e -
%gﬁgﬂt& EFERZR “g%ﬂ’é‘?‘ﬂﬁ%ﬁfﬁéﬂ%ﬁ%ﬁﬁ = m((h&K) 513,264,000|
<z £ = EEIIE R RIRRIZIEF
AEE WOR lepmp 2O R R AR w0 253,163,000
2 == IME = (] B .
%gﬁgﬂt& EFERZR “g%ﬂ’é‘?‘ﬂﬁ%ﬁfﬁéﬂ%ﬁ%ﬁﬁ % EEET (BT R) 144,674,000|
<z £ = EEIIE R RIRRIZIGF
AEER lemmrn R e e e B | 169975000
-y = IE = ‘ P N
> . S5 EES) EERERRRERR | — .
i el e i 214,193,000
A = K =] = ‘ e
F < = ED EXL ) I R RO L = D
REE IR [epmpy [PHCTERRERARERURRIEMHSERERAN] 1 o0sss00
2. B0E |ewne |[PHBEENERNE BEAESER |12 RRDRGH
Gxis EBERR |guie Gai0m) ke = 309,256,000
SIS EENEREER AN EERA|S) | EETER
EEE T LA Tyl Npe—"
HEE [EE AR ﬁ)%i‘%ﬁ@i%(*ﬂ%)(%*usmzﬁ [P IEQ*$E 109,016,827
%Z%%f”*& — WA BB AT A e REE) [5E0ME 115,746,000




